Wide-Jaw Side Clamps

file Side
\_—\Clamping

E:

O

swivel 1.5° - 15° 4

\d3

12428

LOW PROFILE SIDE CLAMPING

Material Technical Notes Tips

Body: steel (C45), black oxide finish. The jaw swivels to align to an unmachined For replacement jaws, see part nos. 35520.
Arm: steel (C45), tempered and black oxide  surface of the workpiece. The jaw is repla- W0303, 35520.W0306 and 35520.W0310.
finish. ceable.

Jaw: steel (SKH51), tempered and black For mounting, use a cap screw to suitd,

oxide finish.

Order No. hy h, hg I I I3 d; d, d, Stroke's; w; w, w5 Clamping force Torque to Weight
kN Nm g
max. max.

12428.W0012 40 32 31 625 45 30 M8 M4x4 M 8x35 5.3 45 12 25 15 25 0.6
12428.W0016 50 40 39 740 55 40 MI10 M4x4 M10x40 7.1 55 16 30 27 50 1.0
12428.W0020 60 48 47 910 65 45 M12 Mb5x5 M12x50 8.0 65 20 35 38 90 1.7

Ji3) align each surface
hex. socket-head — | ik
cap screw

jaw is replaceable
for installing, use a hex. socket-head cap screw
fit the jaw onto a pocket of the side clamp arm.

The jaw swivels to adapt to unmachined surface of the workpiece.

M Wixroud 0333 207 4497 sales@wixroyd.com 1

AN ESSENTRA COMPANY



